EARAROBEEIERT — 2 N— IBISH —F

2018564250 (B) 4EIKR3H

m C2/~4 5% (xwlw | lmEmml - |5 5) wom 8
[A&4£] 1 7% :200,000" ~ 23%&:46,000”  33%&:26,000H”  43%&:18,000 M .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— ey ERRE :32. ~5-3- . — TREEM (KR)
1 6|77 7Ry YL o4 | BR 1(3_2)8 55-3-3 | 41.2 5 ;1_267) o
LG4 7 hT—IEY B:XF-—Y RNy Y 1RSSR
S, TS £ o6 | WOB— 1:32.8 8-8-8-5 |40.3| — 2 456 |HEEZE (KR)
2 3 J4 > XTEX 56.0 (7E) (+1) £ FFEE
L:ZFAT-IK BT RETPTHFA [AE e
PN _ B4 | - 1:33.2 2-2-1-1 |42.3| — 8 429 | /NPEERTE (B%FE)
3|5|5| 7/ MTY 54.0 21/2) o) | EEEZ
R:Y~v—N—K B:7LFv b SO ¥/3
N NN ® BRI :33. -3-3- . - RINRE (KR)
alzl7|7V=—>v=~ i 7 N 1(/73?:2 3-3-3-4 | 41.9 1 &8) bt i
LNAT—=F—L B:XF—7U—-Z> fisibie ]
. . o AIERE :33. 66— . — ZHEE (KR
5 o | RLEL FE—Z i 9 *531__0 1(323)5 6-6-6-6 | 41.7 6 <5+142) f%’i\—
RT7TaT4 =719 BNYa—-T17— NIVEL R T7—L
— . " . AFi8E :33. -1-1- . = RINIRE (KR)
6 4 S5 —F—JL R % 5 AR 1(33/34)6 1-1-1-2 | 42.7 7 (4+833) ke
L:TI1F1 =749 B:57U-HFr31 RE EiF
BRRE : —7-7- — RINRE (KR
7lglg| EErF520- 4 8 e 1(73?:; 7-7-7-1 | 41.6 3 (4372) 2
LT RIAY T wN BTIATAYEE 1125
o = 4 5 | BINIE 1:34.5 4-4-3-8 | 43.3| — 4 451 | =HEE (KR)
8l1|1|RAE—ALT« 54.0 5) AT .
R:J4 7 7—IEY B LT v—ILRO BRI 7 — L
® I —F—@EBIERL
13=7r= 4,5,7,1,6,2,8,3
Aol=5r= 4,5,7,1,6,2,8,3
G§a=7r= (4,5),(1,6,7),2,8,3
43—+ — 5,4,6,7,3,2,8,1
[ RN
B OB 6 1,090 714K 3-6 740M B E 3-6 1,660 &R 3-5-6 17,780H
8 B 6 250 5-6 4,890 B H 6-3 4,340M JEH GR8nb 80,490/
3 1704 3-5 3,480
5 1,050

ABICOVWTRDTEEERROODE. TR LIV,




